P021HE £Z 3 3 YN =AY MDY
SH: BASIMD
H: BBEAMHIA
Sl BAAY L (eol:@e)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
219 M D 10,436,526 10,743,759 £307,233
=2 1,468,829 1,571,534 £102,705
ol 1,083, 159 1,083, 131 28
= 10,000 10,000 0
< 1,721,867 1,700,900 20,967
Al 6,152,671 6,378,194 £225,523
TZBAMHIA 8,312,290 8,591,341 £279,051
= 1,279,110 1,352,389 ~T73,279
p] 1,051,929 1,051,901 28
= 10,000 10,000 0
= 1,666,218 1,645,251 20,967
Al 4,305,033 4,531,800 £.226,767
=AML 2,093,277 2,274,039 180,762
= 330,548 330,548 0
g 1,400 1,400 0
= 65,654 65,654 0
Al 1,695,675 1,876,437 180,762
AU 1,207,533 1,388,295 180,762
101 Q124 | 196,987 191,987 5,000
04JIAMIERSES 196,987 191,987 5,000
O=AL FABL 57,337 52,337 5,000
—218 22X 2,500,000 «2% 5,000 0 5,000
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= 166,148 166, 148 0
S 51,632 51,632 0
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A Z oM 2t 65,597 67,597 A2,000
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019789l 18,000 20,000 A2,000
OAZEUYUA SIEE O A48 EH 18,000 20,000 A2,000
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= 23,571 52,997 N29,426
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= 4,017 4,017 0
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Al 20,960 17,840 3,120
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